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QUESTION 1
How many upgrade parts that are added to the following Whitewater appliances head units support a shelf unit?

Select and Place:

Tokens Drop Here

3030 1x LSI RAID card, 1x LSI
battery backup unit, 6 x16GB

DIMMs

730 1x LSI RAID card, 1x LSI
battery backup unit, 3x 16GB

DIMMs

2030 Ox LSI RAID card, Ox LSI
battery backup unit, Ox 16GB

DIMMs

Correct Answer:

Tokens Drop Here

| | [3030 1x LSI RAID card, 1x LSI
battery backup unit, 6 x16GB
DIMMs

| | [730 1x LSI RAID card, 1x LSI
battery backup unit, 3x 16GB
DIMMs

| 2030 Ox LSI RAID card, Ox LSI
battery backup unit, Ox 16GB
DIMMs
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QUESTION 2

Which Granite appliance components support high availability?
A. Granite Core

B. Granite Edge

C. Neither Granite Core or Granite Edge

D. Both Granite Core and Granite Edge

Correct Answer: D

QUESTION 3

If the following system log messages occur during cloud storage provider configuration on Whitewater appliance, select
the actions below that can be taken to diagnose the causE. (Select 5)

Riverbed rfsd[29622]: [retry.ERR] (29625) failed request 0 of get_buckets after receiving 1032: "1032:

There was a mismatch between the signature in the request and the signature computed by the server.", status=access
denied Riverbed rfsd[29622]: [replicator.ERR] (29625) Failed to list buckets : access denied Riverbed rfsd[29622]:

[rfsd.ERR] (29625) Cloud test faileD. access denied Riverbed rfsd[29622]:

[rfsd.ERR] (29625) Cloud test failed

A. Reboot the Whitewater appliance and see if the error resolves itself.

B. Restart the Whitewater appliance storage optimization service and see if the error resolves itself.
C. Verify the cloud storage provider credentials within Whitewater appliance.

D. Verify the cloud storage provider credentials outside of Whitewater appliance.

E. Take a TCP trace.

F. Check the Whitewater appliance system date/time.

Correct Answer. BCDEF

QUESTION 4

What RAID levels are recommended/used with virtual and physical Whitewater appliances?
A. RAIDO for virtual Whitewater appliance, RAID5 for physical Whitewater appliance.

B. RAID1 for virtual Whitewater appliance, RAID5 for physical Whitewater appliance.

C. RAIDO for virtual Whitewater appliance, RAID6 for physical Whitewater appliance.
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D. RAID1 for virtual Whitewater appliance, RAID6 for physical Whitewater appliance.
E. RAID10 for virtual Whitewater appliance, RAID10 for physical Whitewater appliance.

Correct Answer: D

QUESTION 5

Whitewater appliance peer replication is supported in which of the following modes? (Select 2)

A. Single active/single passive (cloud only).

B. Single active/single passive (secondary Whitewater appliance only).

C. Single active/dual passive (cloud and secondary Whitewater appliance).

D. Single active/dual active (cloud and secondary Whitewater appliance in high availability mode).

Correct Answer: AC
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